

Lead • Partner • Innovate • Excel

June 2, 2023

To: Vendors for Custodial and Floor Care Supplies IFB 23-02-003

RE: Bid Results

The following bid analysis sheets show the prices that were bid for Custodial and Floor Care Supplies for Madison-Oneida BOCES and its participating districts. This bid was awarded on a line-by-line basis as highlighted in green. Items highlighted in red have been disqualified.

This bid was approved by the Madison-Oneida BOCES Board of Education at their monthly meeting on June 1, 2023.

This letter does not constitute an order. Receipt of a valid school district purchase order will be notification of an order.

Thank you for your continued support and participation in our bidding program.

Sincerely,

Madison-Oneida BOCES Cooperative Bidding Service

Chui Spratie

Bids Were Received From the Following Vendors For Custodial and Floor Care Supplies IFB 23-02-003:

Central Poly-Bag Corp.

Attention: Andrew Serhofer

2400 Bedle Place Linden, NJ 07036 Phone: 908-862-7570 Fax: 908-862-9019

Email: bids@centralpoly.com

Website: N/A

Details: Please Reference Madison-Oneida BOCES IFB 23-02-003 on Purchase Order

CooperFriedman Electric Supply Co. Inc. /dba Cooper Electric

Attention: Tania Rodriques 315 Cranbury Half Acre Road

Cranbury, NJ 08512 Phone: 970-296-7441 Fax: 732-308-4606

Email: govbids@cooper-electric.com Website: www.cooper-electric.com

Details: Please Reference Madison-Oneida BOCES IFB 23-02-003 on Purchase Order

Hill & Markes, LLC

Attention: Jacob VanNostrand 1997 State Highway 5S Amsterdam, New York 12010 Phone: 518-842-2410 Fax: 518-842-1207

Email: <u>info@hillnmarkes.com</u> Website: www.hillnmarkes.com

Details: Please Reference Madison-Oneida BOCES IFB 23-02-003 on Purchase Order

Hummel's Office Plus

Attention: Harrison J. Hummel

25 Canal Street Mohawk, NY 13407 Phone: 800-765-4866 Fax: 800-673-3747

Email: bids@hummelsop.com Website: www.hummelsop.com

Details: Please Reference Madison-Oneida BOCES IFB 23-02-003 on Purchase Order

Interboro Packaging

Attention: Chava Kaufman 114 Bracken Road Montgomery, NY 12549 Phone: 845-782-6800 Fax: 845-781-2450

Email: abraham@interboropackaging.com

Website: N/A

Details: Please Reference Madison-Oneida BOCES IFB 23-02-003 on Purchase Order

Maintenance Products & Equipment Co.

Attention: Jake Weinheimer 709 Erie Boulevard West Syracuse, New York 13204 Phone: 315-475-6301 Fax: 315-473-9125

Email: <u>jake@mpecompany.com</u>
Website: www.mpecompany.com

Details: Please Reference Madison-Oneida BOCES IFB 23-02-003 on Purchase Order

Pyramid School Products

Attention: Kenneth Miller 6510 North 54th Street Tampa, FL 33610 Phone: 800-792-2644 Fax: 813-621-7688

Email: biddept@pyramidsp.com
Website: www.pyramidsp.com

Details: Please Reference Madison-Oneida BOCES IFB 23-02-003 on Purchase Order / email orders to

Sales Department at orders@pyramidsp.com

Sanico Inc.

Attention: Frank Palmasani

PO Box 2037

Binghamton, NY 13902 Phone: 607-773-0321 Fax: 607-772-8663

Email: fpalmasani@isanico.com Website: www.isanico.com

Details: Please Reference Madison-Oneida BOCES IFB 23-02-003 on Purchase Order

Unipak Corp

Attention: Brian Marcus

PO Box 332

West Long Branch, NJ 07764

Phone: 888-808-5120 Fax: 718-677-9371

Email: customercare@unipakcorp.net

Website: www.unipakcorp.net

Details: Please Reference Madison-Oneida BOCES IFB 23-02-003 on Purchase Order

Utica Spray and Chemical II

Attention: Michael Kean

6736 Martin St. Rome, NY 13440 Phone: 315-724-3504 Fax: 315-732-4018

Email: mike@uticaspray.com Website: www.uticaspray.com

Details: Please Reference Madison-Oneida BOCES IFB 23-02-003 on Purchase Order

W. B. Mason Co.

Attention: Andrew Daley 9396 River Road

Marcy, NY 13403 Phone: 888-926-2766

Fax: NA

Email: Andrew.daley@wbmason.com

Website: www.wbmason.com

Details: Please Reference Madison-Oneida BOCES IFB 23-02-003 on Purchase Order

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22512	Deep Blue, Concentrate, Fast Draw, 2 Liter	15	Deep Blue, Concentrate, Fast Draw, 2 Liter	BET 18147	4/cs	\$136.86	16	\$8.5538	Utica Spray and Chemical II
			Betco	BCC1814700	4/CT	\$167.98	16	\$10.4984	W.B. Mason Co
			BETCO	BTC1081200	12/32OZ/CS	\$32.57	11	\$2.8571	Hill & Markes, LLC
22513	pH7 Ultra, Concentrate, Fast Draw, 2 Liter	20	pH7 Ultra, Concentrate, Fast Draw, 2 Liter	BET 17847	4/cs	\$92.90	8	\$11.6125	Utica Spray and Chemical II
			Betco	BCC1784700	4/CT	\$112.84	8	\$14.1047	W.B. Mason Co
			Betco	BET 1784700	4/cs	\$119.00	8	\$14.8750	Hummel's Office Plus
			BETCO	BTC3160400	4/1GL/CS	\$53.77	15	\$3.5512	Hill & Markes, LLC
22514	Citrus Chisel Cleaner/Degreaser,Concentrate, Fast Draw, 2 Liter	15	Citrus Chisel Cleaner/Degreaser,Conce ntrate, Fast Draw, 2 Liter	BET 16747	4/cs	\$76.30	4	\$19.0750	Utica Spray and Chemical II
			Betco	BCC1674700	4/CT	\$96.29	4	\$24.0719	W.B. Mason Co
			Betco	BET 1674700	4/cs	\$97.00	4	\$24.2500	Hummel's Office Plus
22515	Green Earth Peroxide Cleaner, Concentrate, Fast Draw, 2 Liter	20	Green Earth Peroxide Cleaner, Concentrate, Fast Draw, 2 Liter	BET 33647	4/cs	\$88.75	8	\$11.0938	Utica Spray and Chemical II
			Betco	BCC3364700	4/CT	\$109.45	8	\$13.6813	W.B. Mason Co
			Betco	BET 3364700	4/cs	\$144.00	8	\$18.0000	Hummel's Office Plus
			BETCO	BTC3901200	12/32OZ/CS	\$62.91	11	\$5.7195	Hill & Markes, LLC
22516	Fiber Pro Extraction Cleaner, 1 Gal	15	Fiber Pro Extraction Cleaner, 1 Gal	BET 41204	4/cs	\$64.00	4	\$16.0000	Utica Spray and Chemical II
			BETCO	BTC4120400	4/1GL/CS	\$75.60	4	\$18.9000	Hill & Markes, LLC
			Betco	BET 4120400	4/cs	\$109.00	4	\$27.2500	Hummel's Office Plus
22517	FiberPRO Spot Bet Stain Remover, 32 Oz	15	FiberPRO Spot Bet Stain Remover, 32 Oz	BET 42512	12/cs	\$44.20	12	\$3.6833	Utica Spray and Chemical II
			Betco	BCC4251200	12/CT	\$62.41	12	\$5.2010	W.B. Mason Co
			Betco	BET 4251200	12/cs	\$77.00	12	\$6.4167	Hummel's Office Plus

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22518	Kling Toilet Bowl Cleaner, 32 Oz	60	Kling Toilet Bowl Cleaner, 32 Oz	BET 07512	12/cs	\$31.19	12	\$2.5992	Utica Spray and Chemical II
			Betco	BCC0751200	12/CT	\$35.93	12	\$2.9938	W.B. Mason Co
			Betco	BET 0751200	12/cs	\$37.00	12	\$3.0833	Hummel's Office Plus
			spartan	41sparcling	12 per case	\$23.16	12	\$1.9300	Sanico, Inc.
			BETCO	BTC711200	12/32OZ/CS	\$33.26	12	\$2.7714	Hill & Markes, LLC
22519	Stix Toilet Bowl Cleaner , 32 Oz	12	Stix Toilet Bowl Cleaner , 32 Oz	BET 07612	12/cs	\$45.12	12	\$3.7600	Utica Spray and Chemical II
			Betco	BCC0761200	12/CT	\$55.98	12	\$4.6646	W.B. Mason Co
			Betco	BET 0761200	12/cs	\$69.00	12	\$5.7500	Hummel's Office Plus
			spartan	41mld	12 per case	\$29.16	12	\$2.4300	Sanico, Inc.
			BETCO	BTC711200	12/32OZ/CS	\$33.26	12	\$2.7714	Hill & Markes, LLC
22520	Ax-lt Plus Floor Stripper, 5 Gal	30	Betco	BET 1540500	Each	\$79.50	5	\$15.9000	Hummel's Office Plus
			Ax-lt Plus Floor Stripper, 5 Gal	BET 15405	5G Pail	\$97.68	5	\$19.5360	Utica Spray and Chemical II
			Betco	BCC1540500	EA	\$111.94	5	\$22.3875	W.B. Mason Co
			spartan	41emfplus5	5 gal	\$66.95	5	\$13.3900	Sanico, Inc.
22521	Ax-lt Aerosol Baseboard Stripper, 19 Oz	10	Ax-lt Aerosol Baseboard Stripper, 19 Oz	BET 099	12/cs	\$47.78	12	\$3.9817	Utica Spray and Chemical II
			Betco	BET 992300	12/cs	\$53.50	12	\$4.4583	Hummel's Office Plus
			Betco	BCC0992300	12/CT	\$56.28	12	\$4.6896	W.B. Mason Co
			spartan	416097	12-20 oz	\$43.56	12	\$3.6300	Sanico, Inc.
22084	Broom, Angle, Flagged Polypropylene Fibers, Soft Bristle, Complete With Handle, Plastic, Anglecut Fibers, Hang-Up Hook	80	Genuine Joe	GJO 09570	Each	\$4.79	1	\$4.7900	Hummel's Office Plus
			RUBBERMAID		Ea	\$5.40	1	\$5.4000	Cooper Electric
			ABCO	BR1024MH (6 EA/CASE)	EA	\$5.58	1	\$5.5800	Pyramid School Products
			O'CEDAR	OCD6410	EA	\$6.51	1	\$6.5143	Hill & Markes, LLC
			Winco	WNCBRM60L	EA	\$9.19	1	\$9.1875	W.B. Mason Co
			nextstep commercial	5164006	each	\$9.30	1	\$9.3000	Sanico, Inc.

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22092	Brush, Toilet Bowl, Deluxe, Acid Resistant Polypropylene Strands, I-Beam. Plastic Handle	300	Impact	22204	each	\$0.80	1	\$0.8000	Sanico, Inc.
			Impact	IMP204	EA	\$0.86	1	\$0.8625	W.B. Mason Co
			Genuine Joe	GJO 99756	25/ct	\$26.00	25	\$1.0400	Hummel's Office Plus
			IMPACT	IMP204	EA	\$1.20	1	\$1.2000	Hill & Markes, LLC
			TOLCO	280100 (12 EA/CASE)	EA	\$1.21	1	\$1.2100	Pyramid School Products
			RUBBERMAID			\$1.35	1	\$1.3500	Cooper Electric
22497	Broom, Angle, 12" Sweep, Flagged Polypropylene Fibers, Complete With Handle, Plastic, Anglecut Fibers, Hang-Up Hook	20	Genuine Joe	GJO 09570	ea	\$4.79	1	\$4.7900	Hummel's Office Plus
			RUBBERMAID	FG6375 (12 EA/CASE)	EA	\$5.99	1	\$5.9900	Pyramid School Products
			RUBBERMAID		Ea	\$6.55	1	\$6.5500	Cooper Electric
			Winco	WNCBRM60L	EA	\$9.19	1	\$9.1875	W.B. Mason Co
			O'CEDAR	OCD9135112, 13" SWEEP	EA	\$11.45	1	\$11.4462	Hill & Markes, LLC
22098	Bucket, with Wringer, Combo Pack, Side Wringer	12	CONTINENTAL	335-312	EA	\$58.98	1	\$58.9800	Pyramid School Products
			RUBBERMAID	RUB7580, 35QT	EA	\$62.32	1	\$62.3182	Hill & Markes, LLC
			RUBBERMAID			\$62.35	1	\$62.3500	Cooper Electric
			Winco	WNCMPB36	EA	\$67.48	1	\$67.4750	W.B. Mason Co
			Genuine Joe	GJO 02347	ea	\$84.99	1	\$84.9900	Hummel's Office Plus
22099	Cart, Janitor, High Capacity, Zippered Vinyl Bag, Non-Marking Wheels, Plastic	28	CONTINENTAL	194GY	EA	\$124.69	1	\$124.6900	Pyramid School Products
			Rubbermaid	RCP617388BK	EA	\$180.50	1	\$180.5000	W.B. Mason Co
			RUBBERMAID		Ea	\$206.30	1	\$206.3000	Cooper Electric
			O'CEDAR	OCD96980 2-3 WEEK LEAD TIME	EA	\$222.31	1	\$222.3077	Hill & Markes, LLC
			Rubbermaid	RCP 9T7200BK	ea	\$415.00	1	\$415.0000	Hummel's Office Plus
22002	E - 11 - All Purpose Cleaner, Must Fit Buckeye ECO Proportioning System	1	Buckeye	e11	4/case	\$156.16	4	\$39.0400	Maintenance Products and Equipment Co.
22003	E- 12 - Glass Cleaner, Must Fit Buckeye ECO Proportioning System	1	Buckeye	e12	4/case	\$109.60	4	\$27.4000	Maintenance Products and Equipment Co.
22004	E - 14 - Muscle Cleaner, Must Fit Buckeye ECO Proportioning System	1	Buckeye	e14	4/case	\$117.72	4	\$29.4300	Maintenance Products and Equipment Co.
22005	E - 15 - Hydrogen Peroxide Cleaner, Must Fit Buckeye ECO Proportioning System	1	Buckeye	e15	4/case	\$123.28	4	\$30.8200	Maintenance Products and Equipment Co.
22006	E - 16 - Acid Cleaner, Must Fit Buckeye ECO Proportioning System	1	Buckeye	e16	4/case	\$88.28	4	\$22.0700	Maintenance Products and Equipment Co.

Custodial and Floor Care Supplies IFB 23-02-003 Opened February 7, 2023 at 3:00 PM Summary

Contract Effective July 1, 2023 - June 30, 2024

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22007	E - 22 - One Step Disinfectant, Must Fit Buckeye ECO Proportioning System	1	Buckeye	e22	4/case	\$237.48	4	\$59.3700	Maintenance Products and Equipment Co.
22008	E- 23 - Neutral Cleaner, Must Fit Buckeye ECO Proportioning System	1	Buckeye	e23	4/case	\$109.44	4	\$27.3600	Maintenance Products and Equipment Co.
22010	E- 32 - Floor Cleaner Fragrance Free, Must Fit Buckeye ECO Proportioning System	1	Buckeye	e32	4/case	\$140.52	4	\$35.1300	Maintenance Products and Equipment Co.
	E - 42 - Odor Counteractant, Must Fit Buckeye ECO Proportioning System	1	Buckeye	e42	4/case	\$152.88	4	\$38.2200	Maintenance Products and Equipment Co.
22012	E - 52 - Extraction Cleaner, Must Fit Buckeye ECO Proportioning System	1	Buckeye	e52	4/case	\$62.40	4	\$15.6000	Maintenance Products and Equipment Co.
22102	Arena 300, Action Pack	50	Buckeye	Arena 300	5 gal	\$539.00	5	\$107.8000	Maintenance Products and Equipment Co.
22104	Bottle, Spray, Labeled "Ram"	10	Buckeye	Ram GNG	12/case	\$36.00	12	\$3.0000	Maintenance Products and Equipment Co.
22105	Bottle, Spray, Labeled "Terminator"	20	Buckeye	Terminator GNG	12/case	\$36.00	12	\$3.0000	Maintenance Products and Equipment Co.
22106	Bottle, Spray, Labeled "Workout"	10	Buckeye	Workout GNG	12/case	\$36.00	12	\$3.0000	Maintenance Products and Equipment Co.
22107	Cert	20	Buckeye	Cert	12/case	\$71.64	12	\$5.9700	Maintenance Products and Equipment Co.
22111	Equity	100	Buckeye	Equity	12/case	\$98.60	12	\$8.2167	Maintenance Products and Equipment Co.
22112	Gone	10	Buckeye	Gone	12/case	\$89.60	12	\$7.4667	Maintenance Products and Equipment Co.
22114	Jet Stream	40	Buckeye	Jet Stream	4/case	\$98.28	4	\$24.5700	Maintenance Products and Equipment Co.
22116	LiquiMax, Action Pack	50	Buckeye	Luquimax AP	5 gal	\$151.15	5	\$30.2300	Maintenance Products and Equipment Co.
22118	Marauder, Smart Sac (5 Liters), 3/Case, Buckeye Only	300	Buckeye	Marauder 3x1	3/case	\$93.56	3	\$31.1867	Maintenance Products and Equipment Co.
22119	Ram, Smart Sack	70	Buckeye	Ram 3x1	3/case	\$75.17	3	\$25.0567	Maintenance Products and Equipment Co.
22120	RipSaw, Action Pack	125	Buckeye	Ripsaw AP	5 gal	\$133.45	5	\$26.6900	Maintenance Products and Equipment Co.
22122	Star Spray Concentrate, Smart Sack	90	Buckeye	Star Spray C 3x1	3/case	\$99.59	3	\$33.1967	Maintenance Products and Equipment Co.
22123	Symmetry, Foaming Hand Wash, Green Seal Certified	620	Buckeye	Green Foam Soap 1250	6/case	\$67.80	6	\$11.3000	Maintenance Products and Equipment Co.
22125	Terminator, Smart Sack	720	Buckeye	Terminator 3x1	3/case	\$109.40	3	\$36.4667	Maintenance Products and Equipment Co.
22126	True 7, Smart Sack	160	Buckeye	True 7 3x1	3/case	\$58.10	3	\$19.3667	Maintenance Products and Equipment Co.
22127	Workout, Action Pack	160	Buckeye	Workout AP	5 gal	\$84.10	5	\$16.8200	Maintenance Products and Equipment Co.
22493	Coliseum Gym Floor Finish, Oil Based	20	Buckeye	Coliseum 275	5 gal	\$416.75	5	\$83.3500	Maintenance Products and Equipment Co.
22494	Arena Gym Floor Finish, Water Based	50	Buckeye	Arena 300	5 gal	\$539.00	5	\$107.8000	Maintenance Products and Equipment Co.
22495	Screen Clean	50	Buckeye	Screen Clean	5 gal	\$103.60	5	\$20.7200	Maintenance Products and Equipment Co.
22498	Juggernaut Floor Stripper, 5 Gal Action Pack, Water based	50	Buckeye	Juggernaut AP	5 gal	\$172.70	5	\$34.5400	Maintenance Products and Equipment Co.

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22509	Castleguard Floor Finish, 5 gal action pack	120	Buckeye	Castlegaurd AP	5 gal	\$166.80	5	\$33.3600	Maintenance Products and Equipment Co.
22510	Blue All Purpose Cleaner, 5 liter smart sack	300	Buckeye	Blue 3x1	3/case	\$65.12	3	\$21.7067	Maintenance Products and Equipment Co.
22511	Blue All Purpose Cleaner, 5 gal action pack	40	Buckeye	Blue AP	5 gal	\$72.95	5	\$14.5900	Maintenance Products and Equipment Co.
22000	Defoamer	100	SIMONIZ	54NOFOAM	4 GAL	\$28.20	4	\$7.0500	Sanico, Inc.
			SIMONIZ	SMZN2600004	4/1G/CS	\$32.50	4	\$8.1250	Hill & Markes, LLC
			NCL	NCL65029	4/CS	\$51.16	4	\$12.7906	W.B. Mason Co
			Charlotte	CHV 42574	4 gal / case	\$90.00	4	\$22.5000	Hummel's Office Plus
22001	Lemon Furniture Polish, Aerosol 12/cs	24	CHASE	433-4109 **17oz NET CAN, 12	CASE	\$35.98	204	\$0.1764	Pyramid School Products
			SPARTAN	41CITRO	12-20 OZ	\$46.20	240	\$0.1925	Sanico, Inc.
			NCL	NCL2007	12/CS	\$42.52	216	\$0.1969	W.B. Mason Co
			Genuine Joe	GJO 10351CT	12 / cs	\$45.00	228	\$0.1974	Hummel's Office Plus
			CLAIRE	CLRCL811	12/19OZ/CS	\$88.43	228	\$0.3879	Hill & Markes, LLC
22013	2A - HD Multisurface Cleaner, Must Fit 3M Flow Control Wall Mount System	1	МММ	MMM85827 2-3 WEEK LEAD TIME	4/0.5GL/CS	\$210.31	4	\$52.5786	Hill & Markes, LLC
22014	3A - Neutral Cleaner, Must Fit 3M Flow Control Wall Mount System	1	МММ	MMM85789	4/0.5GL/CS	\$132.96	4	\$33.2393	Hill & Markes, LLC
22015	7A - Food Service Degreaser, Must Fit 3M Flow Control Wall Mount System	1	МММ	MMM85828	4/0.5GL/CS	\$415.16	4	\$103.7893	Hill & Markes, LLC
22016	8A - General Prupose Cleaner, Must Fit 3M Flow Control Wall Mount System	1	МММ	MMM85871	4/0.5GL/CS	\$143.31	4	\$35.8286	Hill & Markes, LLC
22018	17A - Glass Cleaner, Must Fit 3M Flow Control Wall Mount System	1	МММ	MMM85790	4/0.5GL/CS	\$187.50	4	\$46.8750	Hill & Markes, LLC
22134	Bag, Vacuum, Clarke	60	Nilfisk	NIL147105	10/PK	\$8.24	10	\$0.8238	W.B. Mason Co
22137	Bag, Vacuum	50	KARCHER	805300	10 PER PK	\$20.70	10	\$2.0700	Sanico, Inc.
			Windsor Karcher	#5300	pkg of 10	\$29.00	10	\$2.9000	Maintenance Products and Equipment Co.
			Green Klean	GKV5300	10/PK (SOLD AS 10/PK,	\$11.75	1	\$11.7500	W.B. Mason Co
22138	Blade, Razor, Single Edge Safety	50	IMPACT	3410B (100/BX)	BOX	\$9.99	100	\$0.0999	Pyramid School Products
			Sparco	SPR 11820	100/Box	\$21.00	100	\$0.2100	Hummel's Office Plus
			UNGER	59SRB30	100 PER PK	\$25.98	100	\$0.2598	Sanico, Inc.
			IMPACT	IMP3410B	100/BX	\$34.58	100	\$0.3458	Hill & Markes, LLC
			Garvey	COS091461	100/BX	\$4.56	100	\$0.0456	W.B. Mason Co

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22139	Blade, Replacement, Carbon Steel	50	UNGER	RB10C (10 EA/PKG)	PACKAGE	\$8.81	10	\$0.8810	Pyramid School Products
			Unger	UNGRB10C	10/PK	\$9.88	10	\$0.9875	W.B. Mason Co
			UNGER	UNGRB10C	10/PK	\$13.22	10	\$1.3218	Hill & Markes, LLC
22140	Blade, Replacement, Safety Scraper, #9 Razor	20	UNGER	SRB30 (100/BX)	BOX	\$17.98	100	\$0.1798	Pyramid School Products
			UNGER	59SRB30	100 PER PK	\$20.70	100	\$0.2070	Sanico, Inc.
			Unger	UNG SRB30	100/Box	\$25.00	100	\$0.2500	Hummel's Office Plus
			Garvey	COS091461	100/PK	\$4.56	100	\$0.0456	W.B. Mason Co
22142	Block, Urinal, Non-Para, Restroom Deodorizer, Cherry Scent	10	HOSPECO	06411 (12/CASE)	CASE	\$8.99	12	\$0.7492	Pyramid School Products
			Genuine Joe	GJO 58333	12/cs	\$11.50	12	\$0.9583	Hummel's Office Plus
			NILODOR	NIL1000	12/BX	\$12.68	12	\$1.0569	Hill & Markes, LLC
			FRESH PRODUCTS	20P103	12 PER BX	\$12.90	12	\$1.0750	Sanico, Inc.
			Fresh Products	FRS12TOSSCH	12/BX	\$14.15	12	\$1.1792	W.B. Mason Co
22143	Bottle, Dispensing, Bottle/Trigger Sprayers, Bilingual	10	Impact	IMP 5032SS	3/pkg	\$5.00	3	\$1.6667	Hummel's Office Plus
			IMPACT	5032WG & 4902 (x3) [3/PKG]	PACKAGE	\$5.61	3	\$1.8700	Pyramid School Products
22144	Bottle, Spray, Plastic, Embossed Graduated Measure Scale	50	Impact	IMP 5032WG	ea	\$0.50	1	\$0.5000	Hummel's Office Plus
			Impact	IMP5032WG	EA	\$0.71	1	\$0.7125	W.B. Mason Co
			IMPACT	5032WG	EA	\$0.74	1	\$0.7400	Pyramid School Products
			IMPACT	IMP5032WG	EA	\$1.07	1	\$1.0700	Hill & Markes, LLC
			RUBBERMAID			\$2.40	1	\$2.4000	Cooper Electric
22145	Disc, Sanding, 100 Grit	100	Boardwalk	BWK 502010010	10 / ct 20inch	\$61.99	10	\$6.1990	Hummel's Office Plus
			AMERICO	GNR501020 2-3 WEEK LEAD TIME	10/CS	\$62.14	10	\$6.2143	Hill & Markes, LLC
			ACS	32012 (10/PKG)	PACKAGE	\$43.60	10	\$4.3600	Pyramid School Products
22146	Disc, Sanding, 120 Grit	100	ACS	32066 (10/PKG)	PACKAGE	\$40.75	10	\$4.0750	Pyramid School Products
			AMERICO	GNR501220 2-3 WEEK LEAD TIME	10/CS	\$58.04	10	\$5.8043	Hill & Markes, LLC
			Boardwalk	BWK 502012010	10 / ct 20inch	\$61.99	10	\$6.1990	Hummel's Office Plus

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22147	Disc, Sanding, 80 Grit	10	ACS	32145 (10/PKG)	PACKAGE	\$51.98	10	\$5.1980	Pyramid School Products
			AMERICO	GNR508020 2-3 WEEK LEAD TIME	10/CS	\$76.02	10	\$7.6015	Hill & Markes, LLC
			Boardwalk	BWK 50208010	10 / ct 20inch	\$80.00	10	\$8.0000	Hummel's Office Plus
22148	Duster, Poly-Wool, Extended, Non-Allergenic, Washable, Extendable Handle	64	LAMBSKIN SPEC.	S82EPPD	EA	\$5.63	1	\$5.6300	Pyramid School Products
			IMPACT	223120	EACH	\$9.50	1	\$9.5000	Sanico, Inc.
			Genuine Joe	GJO 18333	ea	\$8.25	1	\$8.2500	Hummel's Office Plus
			Better Brush Products	BBP470380	EA	\$10.06	1	\$10.0625	W.B. Mason Co
			IMPACT	IMP3106 - 60" EXTENDABLE LABS WOOL DUSTER	EA	\$9.88	1	\$9.8833	Hill & Markes, LLC
			RUBBERMAID			\$9.95	1	\$9.9500	Cooper Electric
22149	Handle, Mop, Spring Grip, Rust Resistant, Wood, 5" x 58"	60	TUWAY	TUWSW60 2-3 WEEK LEAD TIME	12/CS	\$150.41	12	\$12.5341	Hill & Markes, LLC
			Genuine Joe	GJO 18415	ea	\$17.00	1	\$17.0000	Hummel's Office Plus
			Boardwalk	BWK609	EA	\$19.95	1	\$19.9500	W.B. Mason Co
			IMPACT	99	EA	\$21.99	1	\$21.9900	Pyramid School Products
			RUBBERMAID			\$6.45	1	\$6.4500	Cooper Electric
22150	Handle, Utility, Metal Threaded Wood, Metal Hex Head, Lacquered, 15/16" x 60"	30	JANICO	2097060	EACH	\$3.15	1	\$3.1500	Sanico, Inc.
			RUBBERMAID			\$3.55	1	\$3.5500	Cooper Electric
			RUBBERMAID	RUB6364	EA	\$3.64	1	\$3.6353	Hill & Markes, LLC
			ABCO	01104	EA	\$3.89	1	\$3.8900	Pyramid School Products
			Boardwalk	BWK136	EA	\$4.15	1	\$4.1500	W.B. Mason Co
			Genuine Joe	GJO 60468	ea	\$8.00	1	\$8.0000	Hummel's Office Plus
22152	Head, Mop, Floor Finish 5" x 18"	210	RUBBERMAID	FGE052	EA	\$12.79	1	\$12.7900	Pyramid School Products
			Rubbermaid	RCPE052	EA	\$24.56	1	\$24.5625	W.B. Mason Co
			RUBBERMAID	RUBE052	6/CS	\$150.85	6	\$25.1422	Hill & Markes, LLC

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22154	Holder, Cleansing Pad	30	IMPACT	2000	EA	\$7.59	1	\$7.5900	Pyramid School Products
			Impact	IMP2000	EA	\$9.16	1	\$9.1625	W.B. Mason Co
			AMERICO	GNR542061	EA	\$12.15	1	\$12.1538	Hill & Markes, LLC
			MMM	MMM 08542	4 / ct	\$200.00	4	\$50.0000	Hummel's Office Plus
22158	Pan, Dust, Lobby, Plastic Hopper With Strong PVC Handle, Snap Lock, Storage Hanger	70	Genuine Joe	GJO 85136	ea	\$6.69	1	\$6.6900	Hummel's Office Plus
			CONTINENTAL	912BK	EA	\$8.20	1	\$8.2000	Pyramid School Products
			RUBBERMAID	RUB2531 - 12" LOBBY DUST PAN, BLACK	EA	\$8.41	1	\$8.4091	Hill & Markes, LLC
			RUBBERMAID			\$8.45	1	\$8.4500	Cooper Electric
			Continental	COCP912BK	EA	\$11.88	1	\$11.8750	W.B. Mason Co
22159	Pan, Dust, Metal, Extra Wide, Ribbed For Extra Strength, Powder Coated	100	Genuine Joe	GJO 85151	ea	\$9.59	1	\$9.5900	Hummel's Office Plus
			IMPACT	4216	EA	\$10.99	1	\$10.9900	Pyramid School Products
22160	Pan, Dust, Metal, Heavy Duty, Ribbed For Extra Strength, Powder Coated	6	Impact	IMP4212	EA	\$5.99	1	\$5.9875	W.B. Mason Co
			Genuine Joe	GJO 58143	ea	\$6.69	1	\$6.6900	Hummel's Office Plus
			ABCO	00203	EA	\$8.98	1	\$8.9800	Pyramid School Products
			O'CEDAR	OCD96425	EA	\$12.80	1	\$12.8000	Hill & Markes, LLC
22162	Receptacle, Recycling, Office, Universal Recycling Symbol	30	RUBBERMAID	RUB571473BLU - 14GAL, 2-3 WEEK LEAD TIME	12/CS	\$52.91	12	\$4.4091	Hill & Markes, LLC
			RUBBERMAID			\$4.45	1	\$4.4500	Cooper Electric
			RUBBERMAID	FG295673BLUE	EA	\$5.19	1	\$5.1900	Pyramid School Products
			Genuine Joe	GJO 11582	ea	\$28.00	1	\$28.0000	Hummel's Office Plus
22163	Receptacle, Trash, Metal, Fire Rated	200	Genuine Joe	GJO 58897	ea	\$22.00	1	\$22.0000	Hummel's Office Plus
			RUBBERMAID	RUB2147583, 16 GL METAL, 2-3 WEEK LEAD TIME	EA	\$167.01	1	\$167.0133	Hill & Markes, LLC

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22164	Receptacle, Waste, Sanitary Napkin, with Rigid Liner, Tight Fitting Lid	50	RUBBERMAID	FG6140	EA	\$18.39	1	\$18.3900	Pyramid School Products
			RUBBERMAID			\$18.90	1	\$18.9000	Cooper Electric
			RUBBERMAID	RUB6140 - 2-3 WEEK LEAD TIME	EA	\$19.29	1	\$19.2941	Hill & Markes, LLC
			Hospeco	HOS250201W	EA	\$20.50	1	\$20.5000	W.B. Mason Co
			Rubbermaid	RCP 614000	ea	\$69.00	1	\$69.0000	Hummel's Office Plus
22165	Scraper, Hand	100	UNGER	SR500	EA	\$2.77	1	\$2.7700	Pyramid School Products
			Bostitch	BOS28500	EA	\$2.90	1	\$2.9000	W.B. Mason Co
			IMPACT	IMP3410	EA	\$3.36	1	\$3.3636	Hill & Markes, LLC
22166	Scraper, Light Duty, Sharp/Blunt Blade, Aluminum, 4" x 48" Long	50	ABCO	CT08010	EA	\$12.89	1	\$12.8900	Pyramid School Products
			NEXTSTEP COMMERCIAL	202562	EACH	\$17.90	1	\$17.9000	Sanico, Inc.
			UNGER	UNGLH12C	EA	\$30.22	1	\$30.2154	Hill & Markes, LLC
22169	Screen, Urinal, With Non-Para Blocks, Cherry Scent, Non- Paradichlorobenzene & Odor Counteractants	10	Hospeco	HOS01901	12/CT	\$21.53	12	\$1.7938	W.B. Mason Co
			FRESH PRODUCTS	229400C	12 PER BX	\$23.20	12	\$1.9333	Sanico, Inc.
			Impact	IMP 9587	12/ct	\$25.00	12	\$2.0833	Hummel's Office Plus
			NILODOR	NIL2014	12/BX	\$26.62	12	\$2.2179	Hill & Markes, LLC
			IMPACT	9480S (12/CASE)	CASE	\$15.29	12	\$1.2742	Pyramid School Products
22171	Sign, Safety, Floor, "Caution Wet Floor", Spanish/English	60	ABCO	WS0001 (6/CASE)	CASE	\$41.34	6	\$6.8900	Pyramid School Products
			RUBBERMAID	RUB6112	EA	\$7.51	1	\$7.5114	Hill & Markes, LLC
			RUBBERMAID			\$7.55	1	\$7.5500	Cooper Electric
			Genuine Joe	GJO 85117	ea	\$8.00	1	\$8.0000	Hummel's Office Plus
			Winco	WNCWCS25	EA - 6	\$49.88	6	\$8.3125	W.B. Mason Co

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22176	Sponge, Scrub, Medium Duty, Cleansing Pad/Sponge, Mineral Abrasive, Cellulose/Synthetic Fiber	25	ACS	SC300-20 (20/CASE)	CASE	\$12.99	20	\$0.6495	Pyramid School Products
	·		ACS	2774	40 PER CASE	\$27.60	40	\$0.6900	Sanico, Inc.
			Boardwalk	BWK174	EA (SOLD AS 20/CT FOR \$15.09)	\$15.09	20	\$0.7545	W.B. Mason Co
			DISCO	DSCSS650 - 3- 7/16"X6-1/4" CELLUSLOSE SPONGE & SCRUBBER	4/10/CS	\$53.60	40	\$1.3400	Hill & Markes, LLC
			Impact	IMP 7130P	5/pk	\$13.00	5	\$2.6000	Hummel's Office Plus
22178	Sprayer, to Fit 32 oz Plastic Spray Bottle, Universal Fit	200	Impact	IMP 4745	ea	\$0.55	1	\$0.5500	Hummel's Office Plus
			Tolco	TOL110246	EA	\$0.58	1	\$0.5750	W.B. Mason Co
			JANICO	226900	EACH	\$0.66	1	\$0.6600	Sanico, Inc.
			IMPACT	4902	EA	\$0.75	1	\$0.7500	Pyramid School Products
			IMPACT	IMP4902	EA	\$1.07	1	\$1.0727	Hill & Markes, LLC
22182	Towel, Turkish	100	Winco	WNCBTW30	EA (SOLD AS 12/DOZ)	\$8.80	12	\$0.7333	W.B. Mason Co
22184	Wand, Dust, Extendable	60	LAMBSKIN SPEC.	350EX	EA	\$5.19	1	\$5.1900	Pyramid School Products
			LAMBSKIN	LAM350EX, 44" EXTENDABLE DUSTER	EA	\$7.45	1	\$7.4545	Hill & Markes, LLC
			Boardwalk	BWKL3850	EA	\$7.64	1	\$7.6375	W.B. Mason Co
			IMPACT	223105	EACH	\$8.40	1	\$8.4000	Sanico, Inc.
			Impact	IMP 3105	ea	\$11.00	1	\$11.0000	Hummel's Office Plus
22185	Wastebasket, Plastic, Moulded Polyethylene, Seamless Soft- Sided Construction, Fire Resistant	10	RUBBERMAID	FG254300BLA	EA	\$27.45	1	\$27.4500	Pyramid School Products
			RUBBERMAID	RUB2543 - BEIGE	EA	\$66.28	1	\$66.2800	Hill & Markes, LLC
			Rubbermaid	RCP 254300BK	ea	\$75.00	1	\$75.0000	Hummel's Office Plus
			RUBBERMAID			\$4.45	1	\$4.4500	Cooper Electric

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22351	Mop, Looped End, General Maintenance, Cotton/Rayon/Synthetic Blend, Printed	50	ABCO	ABOCLM303BWN24	12/CT	\$35.81	12	\$2.9844	W.B. Mason Co
	·		ABCO	CLM303MWB (12 EA/CASE)	CASE	\$46.68	12	\$3.8900	Pyramid School Products
			RUBBERMAID	·		\$62.16	12	\$5.1800	Cooper Electric
			TUWAY	TUWWT2245BLPK3	3/CS	\$28.36	3	\$9.4545	Hill & Markes, LLC
22355	Mop, Wet, Looped End, Pre-Shrunk, 6-Ply, Heavy-Duty, High- Wet, Modulus Rayon Blend Yarn, Large, White	50	ABCO	ABOCLM303LWB	EA (SOLD AS 12/CT)	\$55.71	12	\$4.6425	W.B. Mason Co
			ABCO	CLM303LWB	EA	\$4.95	1	\$4.9500	Pyramid School Products
			TUWAY	TUWTT245PK3	3/CS	\$22.13	3	\$7.3750	Hill & Markes, LLC
22487	Pad, Cleansing Pad	28	ACS	672-40 (40/CASE)	CASE	\$29.98	40	\$0.7495	Pyramid School Products
			AMERICO	GNR541040 - OCTOPUS PAD 4.5"X10", BLACK 2-3 WEEK LEAD TIME	20/CS	\$20.26	20	\$1.0131	Hill & Markes, LLC
			3M	263M8550	40 PER CASE	\$160.00	40	\$4.0000	Sanico, Inc.
			MMM	MMM 05241CT	40/cs	\$180.00	40	\$4.5000	Hummel's Office Plus
22489	Mop, Looped End, Wet Floor, Cotton	200	ABCO	ABOLM2001WN20	12/CT	\$30.61	12	\$2.5510	W.B. Mason Co
			ABCO	LM2001MW (12/CASE)	CASE	\$33.48	12	\$2.7900	Pyramid School Products
			RUBBERMAID			\$43.20	12	\$3.6000	Cooper Electric
			TUWAY	TUWDOL245PK3	3/CS	\$16.19	3	\$5.3977	Hill & Markes, LLC
22499	Absorbent compound for oil or liquid	100	Polsinello Fuels	PNFOD18002	EA 40#	\$10.49	40	\$0.2622	W.B. Mason Co
			EP MINERALS	EPM8440	40#/BG	\$13.77	40	\$0.3442	Hill & Markes, LLC
22500	Stain Remover, Betco Spot Bet	100	Betco	BCC4251200	12/CT	\$62.41	12	\$5.2010	W.B. Mason Co
			Betco	BET 4251200	12/ct	\$72.00	12	\$6.0000	Hummel's Office Plus
22503	Floor Finish, Johnson Diversey High Mileage	30	Diversey	DVO 95104811	5 gal	\$145.00	5	\$29.0000	Hummel's Office Plus
			Diversey	DVS95104811	EA	\$146.59	5	\$29.3175	W.B. Mason Co
			DIVERSEY	DIV95104811	5GL	\$193.28	5	\$38.6554	Hill & Markes, LLC
22504	Cleaner, Disinfectant, Quat-Stat SC, 2 liter	25	Betco	BET 3414700	4/ct	\$108.00	4	\$27.0000	Hummel's Office Plus
				BET 34147	4/cs	\$146.88	4	\$36.7200	Utica Spray and Chemical II
		Ī	Betco	BCC3414700	4/CT	\$162.96	4	\$40.7406	W.B. Mason Co

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22505	Expo Whiteboard Cleaner, gallon	150	Sanford	SAN 81800	ea	\$23.00	1	\$23.0000	Hummel's Office Plus
			Expo	SAN81800	4/CS	\$101.90	4	\$25.4750	W.B. Mason Co
			EXPO	81800 (4 GAL/CASE)	CASE	\$107.96	4	\$26.9900	Pyramid School Products
22506	GOJO Green Seal Certified, Lotion Hand Wash Bag-In-Box Refill for dispenser, 800 ml	60	GOJO	GJ910612 - 2-3 WEEK LEAD TIME	12/800mL/CS	\$62.56	12	\$5.2131	Hill & Markes, LLC
	40A - Disinfectant Cleaner, Must Fit 3M Flow Control Wall Mount System	1	MMM	MMM85837 2-3 WEEK LEAD TIME	4/0.5GL/CS	\$337.79	4	\$84.4464	Hill & Markes, LLC
22189	Dispenser, Bath Tissue, Steel Construction, 3/4" Core, 3500 Single Ply Sheet Capacity	50	MORCON	MORVT1006	EA no charge with award of corresponding product	\$0.00	1	\$0.0000	Hill & Markes, LLC
22207	Dispenser, Towel, 8", Roll Towel	1	Georgia Pacific	GPC56201	EA	\$56.25	1	\$56.2500	W.B. Mason Co
22208	Dispenser, Towel, Metal, White, For Single Fold Towel	1	Georgia Pacific	GPC56701	EA	\$30.81	1	\$30.8125	W.B. Mason Co
22463	Dispenser, Bath Tissue, Steel Construction, 3/4" Core, 3500 Single Ply Sheet Capacity	50	MORCON	MORVT1006	EA no charge with award of corresponding product	\$0.00	1	\$0.0000	Hill & Markes, LLC
22463	Dispenser, Bath Tissue, Steel Construction, 3/4" Core, 3500 Single Ply Sheet Capacity	50	Georgia Pacific	GPC56797A	EA	\$0.01	1	\$0.0125	W.B. Mason Co
22219	Pad, Floor, Buffer, Non-Woven Polyester Fiber, 12", Red	1	ACS	ACS5112	5/CT	\$5.80	5	\$1.1600	W.B. Mason Co
			ACS	51-12 (5/BOX)	BOX	\$5.99	5	\$1.1980	Pyramid School Products
			ACS	26RED12	5 PER CASE	\$6.45	5	\$1.2900	Sanico, Inc.
			Boardwalk	BWK 4012RED	5/box	\$11.00	5	\$2.2000	Hummel's Office Plus
			AMERICO	GNR404412	5/CS	\$11.95	5	\$2.3908	Hill & Markes, LLC
			3M			\$16.50	5	\$3.3000	Cooper Electric
22220	Pad, Floor, Buffer, Non-Woven Polyester Fiber, 13", Red	20	ACS	51-13 (5/BOX)	ВОХ	\$6.98	5	\$1.3960	Pyramid School Products
			3M	WBM510013WB	5/CT	\$7.16	5	\$1.4325	W.B. Mason Co
			ACS	26RED13	5 PER CASE	\$7.25	5	\$1.4500	Sanico, Inc.
			AMERICO	GNR404413	5/CS	\$12.14	5	\$2.4277	Hill & Markes, LLC
			Genuine Joe	GJO 90413	5/box	\$13.00	5	\$2.6000	Hummel's Office Plus
			3M			\$18.30	5	\$3.6600	Cooper Electric

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22221	Pad, Floor, Buffer, Non-Woven Polyester Fiber, 14", Red	10	ACS	ACS5114	5/CT	\$7.58	5	\$1.5150	W.B. Mason Co
			ACS	51-14 (5/BOX)	BOX	\$7.89	5	\$1.5780	Pyramid School Products
			ACS	26RED14	5 PER CASE	\$8.50	5	\$1.7000	Sanico, Inc.
			Boardwalk	BWK 4014RED	5/box	\$13.50	5	\$2.7000	Hummel's Office Plus
			AMERICO	GNR404414	5/CS	\$13.95	5	\$2.7908	Hill & Markes, LLC
			3M			\$20.65	5	\$4.1300	Cooper Electric
22223	Pad, Floor, Buffer, Non-Woven Polyester Fiber, 21", Red	50	ACS	51-21 (5/BOX)	ВОХ	\$12.97	5	\$2.5940	Pyramid School Products
			ACS	ACS5121	5/CT	\$13.79	5	\$2.7575	W.B. Mason Co
			ACS	26RED21	5 PER CASE	\$17.95	5	\$3.5900	Sanico, Inc.
			Boardwalk	BWK 4021RED	5/box	\$25.40	5	\$5.0800	Hummel's Office Plus
			AMERICO	GNR404421 2-3 WEEK LEAD TIME	5/CS	\$26.98	5	\$5.3960	Hill & Markes, LLC
			3M			\$39.30	5	\$7.8600	Cooper Electric
22227	Pad, Floor, Cleaner, Non-Woven Natural/Polyester Fiber, 12", Blue	40	ACS	ACS5312	5/CT	\$5.80	5	\$1.1600	W.B. Mason Co
			ACS	53-12 (5/BOX)	ВОХ	\$5.99	5	\$1.1980	Pyramid School Products
			ACS	26BLU12	5 PER CASE	\$6.45	5	\$1.2900	Sanico, Inc.
			AMERICO	GNR400412 2-3 WEEK LEAD TIME	5/CS	\$11.95	5	\$2.3908	Hill & Markes, LLC
			ЗМ			\$16.50	5	\$3.3000	Cooper Electric
22228	Pad, Floor, Cleaner, Non-Woven Natural/Polyester Fiber, 14", Blue	20	ACS	ACS5314	5/CT	\$7.58	5	\$1.5150	W.B. Mason Co
			ACS	53-14 (5/BOX)	ВОХ	\$7.89	5	\$1.5780	Pyramid School Products
		Ī	ACS	26BLU14	5 PER CASE	\$8.50	5	\$1.7000	Sanico, Inc.
		Ī	Boardwalk	BWK 4014BLU	5/box	\$13.50	5	\$2.7000	Hummel's Office Plus
		Ī	AMERICO	GNR400414, 2-3 WEEK LEAD TIME	5/CS	\$13.95	5	\$2.7908	Hill & Markes, LLC
		Ī	3M			\$20.65	5	\$4.1300	Cooper Electric

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22233	Pad, Floor, Stripper, Non-Woven Nylon/Polyester Fiber, 12", Black	40	ACS	ACS7212	5/CT	\$5.80	5	\$1.1600	W.B. Mason Co
			ACS	72-12 (5/BOX)	вох	\$5.99	5	\$1.1980	Pyramid School Products
		_	ACS	26BLK12	5 PER CASE	\$6.45	5	\$1.2900	Sanico, Inc.
		_	Boardwalk	BWK 4012BLA	5/box	\$11.00	5	\$2.2000	Hummel's Office Plus
			AMERICO	GNR400112, 2-3 WEEK LEAD TIME	5/CS	\$11.95	5	\$2.3908	Hill & Markes, LLC
			3M			\$16.65	5	\$3.3300	Cooper Electric
22234	Pad, Floor, Stripper, Non-Woven Nylon/Polyester Fiber, 16", Black	40	ACS	ACS7216	5/CT	\$8.86	5	\$1.7725	W.B. Mason Co
	2.45.	_	ACS	72-16 (5/BOX)	BOX	\$8.98	5	\$1.7960	Pyramid School Products
		_	ACS	26BLK16	5 PER CASE	\$9.80	5	\$1.9600	Sanico, Inc.
			Genuine Joe	GJO 90216	5/box	\$16.50	5	\$3.3000	Hummel's Office Plus
			AMERICO	GNR400116	5/CS	\$16.55	5	\$3.3108	Hill & Markes, LLC
			3M			\$25.00	5	\$5.0000	Cooper Electric
22236	Pad, Floor, Stripper, Non-Woven Nylon/Polyester Fiber, 21", Black	40	ACS	72-21 (5/BOX)	BOX	\$12.97	5	\$2.5940	Pyramid School Products
	2.40.	_	ACS	ACS7221	5/CT	\$13.79	5	\$2.7575	W.B. Mason Co
		_	ACS	26BLK21	5 PER CASE	\$17.95	5	\$3.5900	Sanico, Inc.
			Boardwalk	BWK 4021BLA	5/box	\$25.40	5	\$5.0800	Hummel's Office Plus
			AMERICO	GNR400121 2-3 WEEK LEAD TIME	5/CS	\$26.98	5	\$5.3960	Hill & Markes, LLC
		_	3M			\$40.45	5	\$8.0900	Cooper Electric
22482	Pad, Floor, Buffing, Non-Woven Natural/Polyester Fiber, 17", Red	40	ACS	51-17 (5/BOX)	BOX	\$9.29	5	\$1.8580	Pyramid School Products
		_	3M	WBM510017WB	5/CT	\$10.69	5	\$2.1375	W.B. Mason Co
		_	ACS	26RED17	5 PER CASE	\$11.25	5	\$2.2500	Sanico, Inc.
			AMERICO	GNR404417, 2-3 WEEK LEAD TIME	5/CS	\$17.82	5	\$3.5631	Hill & Markes, LLC
			Genuine Joe	GJO 90417	5/box	\$19.00	5	\$3.8000	Hummel's Office Plus
			3M			\$26.90	5	\$5.3800	Cooper Electric

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22483	Pad, Floor, Buffing, Non-Woven Natural/Polyester Fiber, 17", White	40	ACS	41-17 (5/BOX)	вох	\$9.29	5	\$1.8580	Pyramid School Products
			3M	WBM410017WB	5/CT	\$10.69	5	\$2.1375	W.B. Mason Co
		Ī	ACS	26WHT17	5 PER CASE	\$11.25	5	\$2.2500	Sanico, Inc.
			AMERICO	GNR401217, 2-3 WEEK LEAD TIME	5/CS	\$17.82	5	\$3.5631	Hill & Markes, LLC
			Genuine Joe	GJO 90517	5/box	\$19.00	5	\$3.8000	Hummel's Office Plus
			3M			\$26.90	5	\$5.3800	Cooper Electric
22484	Pad, Floor, Buffing, Non-Woven Natural/Polyester Fiber, 17", Black	50	ACS	72-17 (5/BOX)	вох	\$9.29	5	\$1.8580	Pyramid School Products
			3M	WBM720017WB	5/CT	\$10.99	5	\$2.1975	W.B. Mason Co
			ACS	26BL;K17	5 PER CASE	\$11.25	5	\$2.2500	Sanico, Inc.
			AMERICO	GNR400117	5/CS	\$17.82	5	\$3.5631	Hill & Markes, LLC
			Genuine Joe	GJO 90217	5/box	\$19.00	5	\$3.8000	Hummel's Office Plus
			3M			\$27.65	5	\$5.5300	Cooper Electric
22485	Pad, Floor, Buffing, Non-Woven Natural/Polyester Fiber, 17", Green	40	ACS	55-17 (5/BOX)	ВОХ	\$9.29	5	\$1.8580	Pyramid School Products
			ACS	ACS5517	5/CT	\$9.69	5	\$1.9375	W.B. Mason Co
			ACS	26GRN17	5 PER CASE	\$11.25	5	\$2.2500	Sanico, Inc.
			AMERICO	GNR400317 2-3 WEEK LEAD TIME	5/CS	\$17.82	5	\$3.5640	Hill & Markes, LLC
		Ī	Genuine Joe	GJO 90317	5/box	\$19.00	5	\$3.8000	Hummel's Office Plus
22486	Pad, Floor, Buffing, Non-Woven Natural/Polyester Fiber, 20", Aqua	40	ACS	31-20 (5/BOX)	ВОХ	\$12.85	5	\$2.5700	Pyramid School Products
	·		3M	WBM310020WB	5/CT	\$14.74	5	\$2.9475	W.B. Mason Co
		Ī	Genuine Joe	GJO 91120	5/box	\$22.00	5	\$4.4000	Hummel's Office Plus
		ŀ	AMERICO	GNR402320, 2-3 WEEK LEAD TIME	5/CS	\$23.58	5	\$4.7169	Hill & Markes, LLC
			3M			\$34.85	5	\$6.9700	Cooper Electric

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22492	Surface Prep Pads, 20"	70	ACS	ACS4720	10/CT	\$24.94	10	\$2.4938	W.B. Mason Co
			ACS	47-20 (10/BOX)	ВОХ	\$29.98	10	\$2.9980	Pyramid School Products
			Boardwalk	BWK SPP20	10/cs	\$65.00	10	\$6.5000	Hummel's Office Plus
			AMERICO	GNR420720, 2-3 WEEK LEAD TIME	10/CS	\$84.34	10	\$8.4338	Hill & Markes, LLC
			3M			\$100.00	10	\$10.0000	Cooper Electric
			ЗМ	26SPP20	5 PER CASE	\$133.00	5	\$26.6000	Sanico, Inc.
22324	Bag, Trash, 30" x 36", Star seal Bottom, No Side Seams, 1.5 mil., Low Density Resin, Clear, Flat Fold, 250 Bags/Box Samples Required	700	Central Poly	CP3036NXH	Case/250	\$23.80	250	\$0.0952	Central Poly-Bag Corp
			UPC	378	15.88	\$15.88	250	\$0.0635	Unipak Corp.
			Mfr: Pitt/IBS/ Glopak	As per sample #22324	250/Case	\$24.24	250	\$0.0970	Interboro Packaging
			Heritage	HERH6639AC	250 CT \$59.25 (SOLD AS	\$59.25	250	\$0.2370	W.B. Mason Co
			Heritage	HER H6036SC	1.1 mil	\$68.00	250	\$0.2720	Hummel's Office Plus
22330	Absorbent, Chem-Sorb	40	Fresh	FRS 614SSBX	6/cs	\$47.00	72	\$0.6528	Hummel's Office Plus
			FRESH PRODUCTS	FSP614SS - 2-3 WEEK LEAD	6/12OZ/CS	\$70.07	72	\$0.9732	Hill & Markes, LLC
22334	Cleaner, Stainless Steel	30	CHASE	433-4111 **20oz CAN, 12 CANS/CASE**	CASE	\$33.98	240	\$0.1416	Pyramid School Products
			NCL	NCL2006	12/CS 18oz	\$48.66	216	\$0.2253	W.B. Mason Co
			SPARTAN	416290	12-20 OZ	\$64.00	240	\$0.2667	Sanico, Inc.
			Genuine Joe	GJO 02114CT	12/ct 15oz	\$66.75	180	\$0.3708	Hummel's Office Plus
			CLAIRE	CLRCL841	12/15OZ/CS	\$76.62	180	\$0.4256	Hill & Markes, LLC
22335	Cleanser	30	Ajax	CPC14278CT	24/CT	\$33.13	504	\$0.0657	W.B. Mason Co
			BABO	P752088 **21oz CAN, 24 CANS/CASE**	CASE	\$39.98	504	\$0.0793	Pyramid School Products
			Ajax	CPC 214278CT	24/cs	\$40.00	504	\$0.0794	Hummel's Office Plus
			AJAX	CPL4278	24/210Z/CS	\$45.36	504	\$0.0900	Hill & Markes, LLC

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22349	Vinegar, White	600	Champion	CCH MAV128	4/cs	\$12.00	4	\$3.00000	Hummel's Office Plus
			BY GEORGE FOOD	BYGWHITEVINEGA R	4/1G/CS	\$15.92	4	\$3.98077	Hill & Markes, LLC
			Heinz	HEI07549	4/CS	\$16.23	4	\$4.05750	W.B. Mason Co
22350	WD-40, Smart Straw Can, Permanently Affixed Straw, WD-40 Only	600	WD40	WDF 490040	ea	\$10.50	1	\$10.50000	Hummel's Office Plus
			WD-40	WDF490040EA	EA	\$10.68	1	\$10.67500	W.B. Mason Co
			WD40	WDF490088CT **16oz CAN**	CAN	\$8.99	1	\$8.99000	Pyramid School Products
22009	Tissue, Bath, Double Ply, 4 3/8" x 4 1/2" sheet, 500 sheets/roll, Samples Required	1	Resolute	235 (4.4"x3.5")	Case/96	\$50.00	48,000	\$0.0010	Central Poly-Bag Corp
			CASCADES	CASB040	96/500/CS	\$68.08	48,000	\$0.0014	Hill & Markes, LLC
			resolute	15275	96-500 2 ply	\$46.30	48,000	\$0.0010	Sanico, Inc.
			Heavenly Soft	HVN410001	96/CT	\$46.56	48,000	\$0.0010	W.B. Mason Co
22031	Towel, Folded, Green Seal Certified, Singlefold, 9" x 10", Natural, Baywest EcoSoft Green Seal 47300 or Equal Samples Required	100	Genuine Joe	GJO 21020	16/250/ct	\$15.99	4,000	\$0.0040	Hummel's Office Plus
			Marcal PRO	MRCP600N	250/PK (SOLD AS 250/PK, 16 PK/CT FOR \$21.61)	\$21.61	4,000	\$0.0054	W.B. Mason Co
			ESSITY	14SK1850A	4000 PER CASE	\$23.90	4,000	\$0.0060	Sanico, Inc.
			Marcal	P600N (334/pkg)	Case/4008	\$23.98	4,008	\$0.0060	Central Poly-Bag Corp
			ESSITY	SCASK1850A	16/250/CS	\$33.36	4,000	\$0.0083	Hill & Markes, LLC
22382	Tissue, Bath, Single Ply, 3/4" Core	200	MORCON	MORM125	24/2500/CS	\$50.00	60,000	\$0.0008	Hill & Markes, LLC
22403	Towel, Folded, Green Seal Certified, Singlefold Samples Required	150	Genuine Joe	GJO 21020	16/250/ct	\$15.99	4,000	\$0.0040	Hummel's Office Plus
			Marcal PRO	MRCP600N	250/pk \$1.35/PK (SOLD AS 250/PK, 16 PK/CT for \$21.61)	\$21.61	4,000	\$0.0054	W.B. Mason Co
			ESSITY	14SK1850A	4000 PER CASE	\$23.90	4,000	\$0.0060	Sanico, Inc.
			Marcal	P600N (334/pkg)	Case/4008	\$23.97	4,008	\$0.0060	Central Poly-Bag Corp
			ESSITY	SCASK1850A	16/250/CS	\$33.36	4,000	\$0.0083	Hill & Markes, LLC

Item#	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Vendor
22507	Tissue, Bath, Green Seal Certified, SinglePly, 4-3/8 x3, 3/4" core, 1000sheets/roll/96/cs	500	Resolute	115 (4.0"x3.1")	96/case	\$52.00	96,000	\$0.0005	Central Poly-Bag Corp
			Resolute	ALM115	96/CT	\$53.99	96,000	\$0.0006	W.B. Mason Co
			GEN	GEN 218	96/cs	\$57.00	96,000	\$0.0006	Hummel's Office Plus
			CASCADES	CASB150	80/1210/CS	\$82.04	96,800	\$0.0008	Hill & Markes, LLC
22496	Wipes, Scrim Reinforced, 4 ply, 12" x 12" 1000/cs Samples Required	300	Hospeco	HOSNE025FBW	900/CT	\$39.63	900	\$0.0440	W.B. Mason Co
			HOSPECO	HSPNGE025FBW 2- 3 WEEK LEAD TIME	900/CS	\$46.14	900	\$0.0513	Hill & Markes, LLC